(1) RERE

(H)+(1)+(])-(K)

(Bfr M)
—kptREERERaas | 2 VZFE | SRIFE | wmm | omow %
FRIAHE (A) 195,306,000 197,158,000 A 1,852,000 A 0.9 %
BARE (B) 195,306,850 197,160,012| A 1,853,162 0.9 %
% H AR (C) 180,561,531 170,840,562 9,720,969 5.7 %
BRARHESI®E B8) - () (D) 14,745,319 26,319,450| A 11,574,131 A 44.0 %
BEEITHRD ﬁ?«{%ﬁ#ﬁ (E) 0 10,423,000 A 10,423,000 B
FEHINX (D) - (E) (F) 14,745,319 15,896,450| A 1,151,131 NT.2%
AIEEREINX (G) 15,896,450 41,504,212| A 25,607,762 A 61.7 %
HEENX (F) - (@) (H) A 1,151,131] A 25,607,762 24,456,63'1
& (1) 0 0 0 0.0 %
| L ERE (1) 0 0 0 0.0 %
TS &HUR LA (K) 0 0 0 0.0 %
Ry 4 (L) A 1,151,131 A 25,607,762 24,456,631
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